WELCOME TO GATE Adda 247

PAID COURSES OF GATE 2024/25 ARE
AVAILABLE FOR ALL STREAMS (EE/EC/ME/CE)

USE CODE

FORBEST MENTORSHIP AND MAXIMUM DISCOUNTS
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* Carry fault current, in case of insulation breakdown.

* Some current always flows through ground path due to capacitive and inductive
coupling etc.

* Por satety concerns against leakage on residual currents via low impedance path.

* While phase/ neutral connected to main power wiring, earth may be connected to
body of the equipment.

* Though both neutral and ground are made grounded, they should no be mixed.
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Find the current in each element ?
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Current calculation in Circuit
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CX- Find ha crxt 1m eadh cad 7
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KIRCHOFF’S CURRENT LAW (KCL)

KEYPOINTS :
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STEPS FOR NODAL ANALYSIS

* Identify all the essential nodes.

* delect one of the node as a reference node. 1.e. ground. @

* Apply KCL to each labelled node.

* Assume the voltage to be higher/lower at the node, we are applying KCL at

* It acurrent source is given anywhere in the circuit, assume a voltage across that
current Source.

* If an ideal independent or dependent voltage soutce 1s present, without any series
resistance 1n between two nodes, always assume a current through these sources.

* Once all the node voltages are known, we can calculate anything like current, powet,

CNCrgy Ctc.




Write down KCL equations for each Node




Write down KCL equations for each Node
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Write down KCL equations for each Node
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